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' Topic:- GENERAL HINDI

1) PE A SRS AEHR BT T I 6l 82
1. T W YA 3, e dadd] g

2. g foieht @ foieat, S Rk orit @ ot

3. 9¢d - Sgd Juii |iew , 7 WIS §¢ S5

4. T H'a) <5 faedr 7ol

oo Ao

- g ffeth @ foiett, s R o 4 ot

2) PG AT DHIA ?

1. U8 99 TS ol TN ST S F T Sad-aadt |
2. T/ U8 G $F o 1 3D SiiEl F |
3. SEA-4TA ST 3! & G U8 99 F© 51 I
4. P! G & A G- éﬂ@ﬁu‘ﬂag@‘e”rW|

Correct Answer -

. SISl & WA SE0-aEd 08 99 $O 3 I

3) STPTIUTATH TP BT - GoTa¥ 31 34 Py Rpedi FA ST A2
1. S5 311% Bgd HRIAT

2. S5 1P TR BT

3. §gd ®H YId BT

4, §gd HH UGd BT

Cérrect AnsWer -

- g 3% 5ad B

4) g ¥ Q B U1, Top] U1 TR 61 Uh 3 Taiaa U 82
1. R

2. TR

3. U

4, Agarg

Correct Answer :-

5) Iw &1 FE A A B a1 we! fadiv I 82
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1. ST
2, AId
3. A

4. S

Correct Answer :-

6) “3rIUT - TSI, AT — AT g7 FHITNG WGl b HH: Wt o arent ufeky o1 A2
1. 1 1, RN A, ST DI, HFARTD 0T

2. HUT AT, T4 AT, AFRTS UIST, ARG 7T

3. ST, ARG WIS, TRIRSD I, U1 BT

4, IR A1, TG BT, YT HAI, HHRID T

Correct Answer i-
7) faamR & B4 |1 T 22

1. 3Ll HIg

2. FUYRY

3. 9gsille

4. 181

Correct Answer :-

. HHYRY

8) Ford gou A wHar T ¥’ 39 Ay & v v Wy sagw -
1.l

2. Féa

3. fisgR

4. fvw

Correct Answer :-

9) fr=fufla & & 19 1 e 1 Mics o 781 82
1. AR

2. HTST TS

3. e fagewor

4, [aUs 1 gy&H-gy®

Correct Answer :-

10) ‘gHMArAr § Wgad Tad S 91 8?2
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1. o
2. drdar
3. goH
4. g

Correct Answer :-

Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
'Why have you got such a long face?' 'My boyfriend doesn't want to see me any more.’
1. look calm

2. look excited

3. look anxious

4, look sad

Correct Answer :-
+ look sad

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to the underlined word.

A chairman is at the top of most company hierarchies.
1. ranks

2. policies

3. board of directors

4. big wigs

Correct Answer :-

¢ ranks

3) Out of the following options, choose the most appropriate tense that best fills in to complete the given sentence:

The struggle for existence and the survival of the fittest, is Darwin's Theory of Evolution that accepted universally.

1. was being
2. is being
3.is

4. had been

Correct Answer :-

4) Choose the option that correctly sequences the following sentences.

1. People with severe gum disease are almost twice as likely to suffer from a heart attack or stroke.

2. However, one recent Belgian study found that when people with gum disease chewed food, bacteria were released into their
bloodstream that could increase inflammation.

3. But researchers are still trying to find out if there is a cause-and-effect relationship.

4. Why this happens is yet unknown.

5. Even those with moderate gum problems have a higher rate of circulatory problems.
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1. 32451
2.21354
3.45231

4. 13542

Correct Answer :-

e 13542

5) Out of the following options, choose the correct form of verb that is in agreement with the subject for the given sentence:

How many pieces the consignment consist of?
1. do

2. does

3. has

4, have

Correct Answer :-
« does

6) Out of the following options, choose the correct form of adverb for the given sentence:

We entered the room
1. funnily

2. quietly

3. enormously

4. motionly

Correct Answer :-

* quietly

7) Out of the following four options, choose the incorrect sentence:

1. Ronald Reagan and his wife Nancy Davis starred opposite each other in the movie 'Hellcats of the Navy'.

2. Andrew Johnson, the 17th president, was the only self-educated tailor ever to served as president.

3. When the Hoovers did not want to be overheard by White House guests, they spoke to each other in Chinese

4. Julie Nixon, daughter of Richard Nixon, married David Eisenhower, son of Dwight D. Eisenhower.

Correct Answer :-
« Andrew Johnson, the 17th president, was the only self-educated tailor ever to served as president.

8) Complete the sentence choosing the right option:

Raju was confident that his would never fail him.
1. confidence

2. confident

3. comfident

4, confedant

Correct Answer :-

« confidence
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Topic:- GENERAL KNOWLEDGE

1) Light-year is a measurement of: [ YBR[ ¥ = @1 TP HIUA %:
1. Distance in Space / 3{dRe& # gd

2. Speed of Light / WebT=1 1 T

3. Speed of Satellites / IUTRI BT AT

4. Time in Space / 3iafiel § g

Correct Answer :-

« Distance in Space / 3iaRel & gt

2) Name the largest Physiographic Unit of India? /

R @ T4 31 Wi sord (PRt gfve) o1 gang:
1. Thar Desert / 4R M

2. The Peninsular Plateau / UEHY U6R

3. The Himalayan Mountains /%Wqﬁrﬁ

4. Great Plains of North India / 3T YRd & HaH

Correct Answer :-
o The Peninsular Plateau /Iqu—s?fCﬁqW

3) How many times has Dr. Bhagwat Dayal Sharma served as the Governor of MP? /
ST WTad TS TWT A A U & AoquTd & 9 F fPa- IR STEHR HHTen?

1. Once / Th AR

2. Four /AR dR

3. Twice / TR

4, Thrice / TH aR

Correct Answer :-

¢ Once/Th AR

4) Baichung Bhutia is an Indian legend in which sport? /

IS yfean frw Ba A te YRt fwre 72
1. Archery / dRgTSH

2. Hockey / gidt

3. Shooting / JT

4, Football / Geaid

Correct Answer :-

« Football / eald

5) has recently signed an agreement with IREDA (Indian Renewable Energy Development Agency) for financing a shared infrastructure of two
large Solar Parks in MP. /
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A3 8 H U Mo § &Y 93 HiOR UTd St AIEN MURYH W1 $i faw niva w31 & fog s¥e1 (Wt siera St [ae goiil) & o e
A TR TRER fPT 72

1. Ministry of New and Renewable Energy / Tdi- U4 3{&f St g1
2. International Solar Alliance / &mﬁ@u@mw 133@51]:1(_*1 IR Qm
3. Rewa Ultra Mega Solar Limited / $aT 3fegT & IR faffies

4. MP Power Management Company Ltd. / e Y& OTaR Aoriie ot faffies

Correct Answer :-
+ Rewa Ultra Mega Solar Limited / $aT mﬁm@?ﬁrﬁ%‘s

6) What is the percentage of coal reserves in Madhya Pradesh to India’s total coal reserves? /
URA & $d HIgal SR Bt a1 § T & H1ad & USR &1 ufa=rd Fm 8?2

1. Less than 5% / 5% ¥ HH

2.6-7%

3. More than 7% / 7% 3 &

4. 5-6%

Correct Answer :-

« More than 7% / 7% 9 31fA&

7) The safe handling and transport of Living Modified Organisms is carried out through which international agreement? /
e Suiafva sfiat &1 GRfga waram st uRae e simeitha wwsia & areaw & fosar simar 22

1. Basel Convention / S8 TfY

2. Kyoto Protocol / e Uicipld

3. Cartagena Protocol / BTeToHT Herdia

4, Montreal Protocol / Afead Werdid

Correct Answer :-

+ Cartagena Protocol / BTeloHT Hieiaia

8) The Disaster Management Act was enacted on .
3muer yeree rfufram, af o & fomam T AT
1.2010

2. 2005

3.2015

4.2012

Correct Answer :-

« 2005

9) Which religion was controversially depicted in the novel ‘Satanic Verses’ by Salman Rushdie? /

AU T) gRI foifEa Su=ars Aefe adfer § fow ud o1 faaerue w3 Rifya favar mar ar

1. Hindu / &g
2. Jewish / Tgat
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3. Christianity /M 1
4, Islam / SXIH

Correct Answer :-

o Islam / SIH

10) Which famous saint poet from Ujjain in Madhya Pradesh wrote ‘Niti Shatakam’ and ‘Vairagya Shatakam’? /

T YR H I & for Ui Wa e 7 +Hifoxas: s Rmaxaew forar ur?
1. Kabir/ SR
2. Kalidasa / SIGRT

3. Bhartruhari / Q—I_cf_e'ﬁ

4, Bhavabhuti / Ya¥fd

Correct Answer :-

« Bhartruhari / 'J-ﬁfﬁﬁ

Topic:- GENERAL REASONING

1) Find the missing number: / & =T {id Y
2,7, ,23,34,47

1.13

2.14

3.15

4.12

Correct Answer :-

2) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
R & YRaan reRY UE TSI BT SgHH UGN Bl ¢ | TeAd Ware yga |

(i) co789mb787na

(ii) co789mb787na

(iii) c0789mp787na

(iv) co789mb787na

1.1ii

2,iv

3.1

4. iii

Correct Answer :-

3) Which one of the following four addresses is NOT EXACTLY same as the one given below? /

Prfifad e o ar u6l § & 19 Ru e 1 & 3o au09 319 91 T T 22
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OFFICE # 04, ALI PLAZA,
NEAR HABIB BANK (HBL),
I- 10 MARKAZ, ISLAMABAD,
Capital Territory 44000,
+92 51 4430622

(i) OFFICE # 04, ALI PLAZA,
NEAR HABIB BANK (HBL),
I- 10 MARKAZ, ISLAMABAD,
Capital Territory 44000,
+92 51 4430622

(ii) OFFICE # 04, ALI PLAZA,
NEAR HABIB BANK (HBL),

I- I0 MARKAZ, ISLAMABAD,
Capital Territory 44000,
+92 51 4430622

(iii) OFFICE # 04, ALI BLAZA,
NEAR HABIB BANK (HBL),

I- I0 MARKAZ, ISLAMABAD,
Capital Territary 44000,

+92 51 4430622

(iv) OFFICE # 04, ALI PLAZA,
NEAR HABIB BANK (HBL),

I- I0 MARKAZ, ISLAMABAD,
Capital Territory 44000,

+92 51 4430622

4. iii

Correct Answer :-

4) If J =10, JASMINE = 71, then ESTIMATE = ? /
Tf& J = 10, JASMINE = 71, @ ESTIMATE = ?
1.82

2.91

3.92

4.71

Correct Answer :-

- 92

5) Find the average. /
3 I B |

15, 10, 40, 55, 25 & 35
1. 64

2,85
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3.45
4.30

Correct Answer :-

« 30

6) Ram and Shyam can do a work in 8 days, Shyam and Sohan can do the same work in 12 days. Ram, Shyam and Sohan together can finish it in 6
days. How many days will Ram and Sohan together take tio complete the work? /

I 3R TaH 8 3 # U B 91 FX Pd €, M R Tigd W o Bi 12 3§ F% 9Fd §1 W, W AR AeT @ ay 39 6 i A mraw
TP &1 I 3R e S TP 1Y STH 6] JATE 631 | fa=1 gug Tnm?

1. 16 days/ 16 f&A
2. 10 days / 10
3.12 days/ 12 &3
4.8days/8 fam

Correct Answer :-

. 8days/8faT

7) If Xand Y are two sets such that n(X) = 17, n(Y) = 26 and n(XUY) = 37, then find n(XNY)./
g X 3R Y €t & 39 R § fF n(X) = 17, n(Y) = 26 3R n(XUY) = 37, T n(XNY) T FI |
1.9
2.6
3.8

4.7

Correct Answer :-

Topic:- PEDAGOGY

1) The idea of basic education was propounded by i
girardt Rran o1 foar FIRT wfcrarea fosam A
1. Sarvepalli Radhakrishnan / mﬂm

2. Dr. Zakir Hussin / ST. SR _§'ﬁ7{

3. Rabindranath Tagore / Y TR

4. Mahatma Gandhi / FETHT el

Correct Answer :-

« Mahatma Gandhi / IIBT?HTTTMT

2) ‘Assessment for learning’ takes into account the following, except ./
‘3UftRH & e e ® Fafifaa 9§ 9 F rarar, I P o & @ e 2
1. Learning styles of students / BT &1 ffepT Aferr

2. Strengths of students / S &1 Afd
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3. Understanding level of students / BE| B FH TR
4, Evaluation of achievements of students / B3I & Hedid $1 SUASAT

Correct Answer :-

« Evaluation of achievements of students / BT & Yedic-1 & Iqaert

3) When material learnt today hinders the recall of what was learnt yesterday, it is termed as: /
3i7er Wil 1§ e, T i S arel B e $3 H seRiy S Xl 8, 39 A weT S 8
1. Hypoactive inhibition / 3d: fehd 3@ty

2. Retroactive inhibition / TdUT SaR1e

3. Proactive inhibition / 3FTIHT ARy

4. Hyperactive inhibition / 3ffaeIfeha /@3ty

Correct Answer :-

 Retroactive inhibition /qﬁmﬁs{aﬁa

4) An aggressive student, who does not conform to the norms of the school, needs help in: /

TS PG BT, Sl TQA & AFD] ST U 81 BT 8, 39 (7 & Aag $ nawasdr
1. Cognitive domain / IMTAS SEA

2. Conative domain / fhaTcT® S

3. Affective domain / HIdIeT® S0

4. Psychomotor domain / AHISRUN SIA-

Correct Answer :-

« Affective domain / HTaTH® S

5) Cognitive development mainly refers to: /

TIFTHS [T T ¥ | 7 &1 Hefifa #rar @:

1. The development of thought processes / feia ufpanstl &1 famr

2. The development of cultural influences / HW%H’T TG &1 fabr

3. The problems in sensorimotor responses / TRimreR ufafarst o TN
4. The problems in social cognition / FTATST ﬁlﬁﬁw

Correct Answer :-

» The development of thought processes / i ufshanstt &1 fasm

6) In Spearman’s two-factor theory of intelligence, spatial intelligence can be consideredas ./
Teae & fg-oRe g Risia §, wife g ot & U W T W qHa1 2l

1. Unknown factor / 33T hREH

2. General factor / gTHII HRRdH

3. Specific factor / fAfRIY HR&

4. Multiple factor / g HIReh

Correct Answer :-

« Specific factor/mw
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7) A live chat on the Internet is an example of: /
I W A1Sd STdaid e &7 IgTeur
1. Mobile communication / HIEEd TR

2. Two-way communication / GI-aRWI HAR

3. One-way communication / U&h-aRWhT TR

4. Formal communication / 3NTER® TaR
Correct Answer :-

» Two-way communication / G-I 9AR

8) The results of which of the following tests provide a better insight for the teacher to plan teaching? /

Frafafea & & i a1 uten, Riee ot e ot aem a9 & fig dgaR Sidef Ue™ o1l 82
1. Socio-metric tests / HTHINTH-HIfCH URI&0T

2. Intelligence tests / gf TREOT

3. Personality tests / SAfaId TRI&0T

4. Attitude Scales / ZRHIU Whal

Correct Answer :-

« Intelligence tests / §fS TRETT

9) Which of the following is true of Vygotsky’s theory? /

et & Rrga A Fefif@a i d s aTaa e

1. Operant conditioning / SfIRe HerRI-T m SR )

2. Socio-cultural approach to cognitive development / H3ITHIE® fawr & forw W—F@W HECA]
3. Insightful learning / GH_?E@ 3Ty

4, Trial and error learning /W—iﬁ ST

Correct Answer :-

« Socio-cultural approach to cognitive development / JRITTIHD CEaR KD forw W—W DI

10) Bloom’s taxonomy is a hierarchical organization of: /
= 31 afifas), e 1 U vergsniie e

1. Examination preparation / ORI Bt TR

2. Curricular declarations /mm

3. Cognitive objectiveslﬂ'ﬁﬁmm

4. Achievements goals / I ey

Correct Answer :-

o Cognitive objectives / ISP e

11) In which type of memory, the materials are stored for later retrieval? /

fora veR 9 Wfa #, Il @) 91e W y9.wife & e wufea fear smar g2
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1. Working memory / &Rl §Ifq

2. Short-term memory (STM) / 3ieqd1Ters TRy (TACITH)
3. Long-term memory (LTM) / €i¥aiiie |y (TASUH)
4. Sensory memory / Hdd! &fd

Correct Answer :-

« Long-term memory (LTM) / dl¥ifere Wi (Taeied)

12) Distraction means: / fd@dor &1 e arerd ghar @
1. Diversion of attention / €919 &1 fqgy=

2. Division of attention / €I BT faHTSH

3. Fluctuation of attention / €T @1 SRR

4, Span of attention / &I &1 3@fy

Correct Answer :-

« Diversion of attention / €919 T fquy=

13) Younger children can learn their subject faster if they are: / ?ﬁ%aﬁ 3 ﬁw 2l 'a\_rﬂ @?ﬂ'@m %Uﬁﬁ%
1. Praised regularly. / Taffd 0§ W1

2. Guided properly. / 31% ¥ ERE

3. Disciplined properly. / 31 ¥ SRR B

4, Punished regularly. / Faffd =0 ¥ dfed o

Correct Answer :-

« Guided properly. / 31 ¥ F&RIa &3

14) CANCELLED

Which of the following is NOT a teaching aid? /
Fafafea & @ o Te Rigor 98/ 82

1. Desktop Computer / mﬂm

2. Green Board / A &1 (B Uca)

3.LCD projector/mm

4. Uniform dress / T JHIA U=

Correct Answer :-

« Uniform dress / T9HT TN

15) CANCELLED

According to Kohlberg’s model, all of the following statements about moral development are true, except : /
Figa & Alsd & R, A® o™ & ar # Fafafea § 3 o9 3 3= & s s i va g
1. The highest level of morality is difficult to reach, a few people achieve it. /

Mirar F IHATHTRR db UG IR d 8, PO T 59 U B 2

2. Moral development occurs in a predictable, fixed manner over time. /
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e faera T & W1y M AT, FAfEd a8% A1
3. Moral development occurs in discrete stages. /e fa®, 3ferT =Ron # giar H|

4. A focus on socially acceptable action is the highest level of mortality. /

TS Wil PRAT R &I HEUT, HS S &7 S=ad TR g

Correct Answer :-

« A focus on socially acceptable action is the highest level of mortality. /

1T Wit HRATS WR €O HEUT, A Sfifd HT S=aH &R 8

Topic:- PHYSICS

1) A Daniel cell is balanced on 240 cm length of potentiometer. Now the cell is short circuited by a resistance of 0.25 Q and the balance is
obtained at 80 cm. The internal resistance of the Daniel cell is: /

T ST e 240 S it Ui R W dqferd fbar mar 81 3 A 0.25 o F ufady & WiE Fithe giar g iR g so At W
e fohaT ST @ | S A9 1 SiiaRe ufeRiy @:

1.05Q
2.20Q
3.025Q
4.10Q

Correct Answer :-

« 050

2) The coefficient viscosity of a liquid depends upon : /

TS 59 DI =T o 39 R ik st 8:

1. both velocity gradient and area of contact / A YFUIT SR FUD BT &F Sl
2. area of contact / §U® &1 &

3. velocity gradient / CURCLUGIS

4. nature of liquid and temperature / Gd 3‘?(? GIECIEE m

Correct Answer :-

« nature of liquid and temperature / 9 eﬁ?amm:r P E@—ﬁ'f

3) The air between the plates of a capacitor is replaced by a medium of dielectric constant K. The electric field between the plates: /
T U F @l & & B ag B K Wdeygd RRI$ & wierd § ged foar siar g1 @iel & o fagga 8=

1. decreases by VK times / VK T[T gedl §

2. Increases by VK times / VK T[T ¢l ?

3. Increases by K times / K 3T Eﬁ?ﬂ%

4. decreases K times / K T[T ¥cdl ?

Correct Answer ;-

« decreases K times / K 7T ¥cdl %

4) The electric field exists in a region is given by Eyx =30x2. If V, is the potential exists at x = 2 m and Vj is the potential at the origin, then the
potential difference Vp—Vy is: /
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T® &7 ¥ Hivig fagya &3 31 E, =30x2 §RT O fHa1 T[T 81 3fQ x = 2 m W RAva v, ok gafig w faug v, Uisg 8, @ uaiae

Va-Vo &
1. -80V

2. 100V
3.80V
4.-100V

Correct Answer :-

o« 80V

5) The respective number of significant figures for the numbers 28.028, 0.0004 and 1.2 x 1073 are: /
H@TSHT 28.028, 0.0004 TF 1.2 x 10-3 & g F1F St & HH: o &

1.5,1,2

2.5,1,3

3.442

4.5,5,2

Correct Answer :-

6) The self-inductance of a coil is 100mH. The magnetic flux linked with each turn of the coil ,while a current of 8mA passes through it is found to
be:/

TS HSail BT WIRBE 100mH B 1 FS & TS AT | 95 Gadid URT 9 B, 519 3 FbR ToieA arell UIRT 8mA #:
1.80x 104 Wb
2.4x 104 Wb
3.40x 1004 Wb
4.8x 10 Wb

Correct Answer :-

7) The inductance in an LCR circuit is changed from L to 2L. for the resonant frequency to remain unchanged the capacitance of the capacitor
should be changed from Cto: /

TH TSR URuy § IRe@ L 9 2L & ged SraT 21 $/HTE g & srafvafda vg & forg denfe & eniar &Y ¢ & sa8 aga-r
Y

1.2C
2.4C
3.C/4
4.C/2

Correct Answer :-

« C2
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8) If a body having a charge of (- q) and mass ‘m’ is placed in an electric field ‘E’, then the acceleration of the body is: /
e 3T (- q) 3R T ‘m’ B Teb I B dgqd & ‘B’ T IWT W14 8, ) 9 BT vl g1l o:

1. gE/m in the direction of E / E @1 f=T & qE/m

2. qE/m in the direction opposite to that of E / E @ fausia fG=m & gE/m

3. mE/q in the direction of E / E ®! &= & mE/q

4. mE/q in the direction opposite to E / E & faudid fa=m & mE/q

Correct Answer :-

« qE/m in the direction opposite to that of E / E @1 f[duid fa=m & qE/m

9) 1f a beam of electrons travels undeviated in a mutually perpendicular uniform magnetic and electric fields of intensity 2 x 10-3T and 1.0 x 104
V/m respectively, the velocity of electron will be: /

Ife gl @1 TH &9 2 x 10-3T TF 1.0 x 104 V/m doaT a1 U RER daad G0T gaaid R fagga &= o fam faafea go =
P 8, d SAGE I BT AT BRI

1.2x 10'%my/s
2.3 x 10%m/s
3.5x 109 m/s
4,63 x 10%m/s

Correct Answer :-

« 5x10%m/s

10) CANCELLED

A geostationary satellite is orbiting the earth at a height of 7R above the surface of the earth, R being the radius of the earth. The time
period of another satellite at a height of 3R from the surface of earth is: /

TP YT IWIE eRell 31 Tag W HWR 7R Pt FHATE U Rt Bt URerHr H7 67 7, R Yt 3t Bisar 81 gt 3t wag @ 3R S w
TP 3 IUUE B! JHY 34y &

1. 6 hours / 6 °¢
2. 8V2 hours / 8v2 ©¢
3. 6V2 hours / 62 ©¢
4.8 hours /8 ©c

Correct Answer :-

« 6\2 hours / 632 e

11) CANCELLED

The value of Q and threshold energy for the reaction (in MeV)

BF(n,p) 10 . Atomic masses are *F= 18.9984u
Iy=1007s ¥0O=19.0036u and }n =1.0086u /

AT Brmp) o (MeV F) & forw Q 3Rk Jugies T &1 AT AT &, STaidh

ORATY] EEAATT Gt ¥F=18.9984u , lE-1007 0 =19.0036u and }n =1.0086u

1.-1.3965, 1.5
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2,4.25,-4.0362
3. 1.5,-1.3965
4.-4.0964, 4.3138

Correct Answer :-
o -4.0964,4.3138
12) CANCELLED

A series LCR circuit contains a coil of inductance 2.23H. a capacitor of capacitance (30/m) uF
and aresistor of resistance 50Q. Calculate the phase difference between current and voltage

(frequency =50 Hz). /

Teh AUl TeRiI3R IRTA & IRehicd 2.25 H dlell Teh Fisell, €Mfikar (50/m) uF dlell Tk
Gt 3R 9farer 50Q arelr v UfeRiee giar gl aRT 3R dlees (3dfca = 50
geoT) & &I Shellodk hl IUTeAT |

L 8435
, 42.17°
3. 137

4 89.83°

Correct Answer :-
84.35°
13) CANCELLED

An AC voltage source of variable angular frequency ‘o’ and fixed amplitude °V’ is connected in series with a capacitance C and an electric

bulb of resistance ‘R’.zero inductance. When ‘w’ is increased : /

IR By Mgy o' 3R e smarm v, aren ve it didw Hia, uriar ¢ iR ufekiy 'R 91a) v fagya aea & wry Joft o
TR 81 YT P g1 519 'W! gedl &

1. the bulb glows brighter / dled 3Idd B IHHAT 81

2. the bulb glows dimmer / §¢8 Hg §IR IHGAT 8|
3. total impedance of the circuit is unchanged / gRuYy Eﬁt\_[ufm?ﬂ 3gfafdd Tt 31
4. total impedance of the circuit increases / ARUY Eil U;Uf EIGEIEICHAs gl

Correct Answer :-

« the bulb glows brighter / d¢§ 3%Idc] IR TG 8

14) CANCELLED
plays a fundamental role in determining global climate patterns and daily weather variations. /
AP Taarg W@y R e Wiaw fafyuarsit #f fHufRa s § ve ga yfire Rumar g
1. Diffusion / YR
2. Conduction / Udlgdhtd
3. Convention / 9dg
4. Radiation / fafapRuT
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Correct Answer :-

. Convention / gdg

15) CANCELLED

A diffraction grating has 1.26x104 rulings uniformly spaced over a width w=25.4 mm. At what angle does the first order maximum occur
when light of wavelength 589 nm is incident on it? /

TP fagd= AETH 1.26x104 IUR & &1 w = 25.4 Aol 35 isTE W U GOk A A g8 W &1 919 589nm 9371 o a1ell UahT=1 Y S W
mufara forar wirar 8 &t wyw % iftraan {5 Sior R gar g2

1 33.98°

, 16.98°

3. 15.8°

4Q°
4 8.49

Correct Answer :-

16.98°

16) CANCELLED
The Einstein relationship between diffusion current “D”and mobility “ p” for an electron is: /

TS SAGEI & fo1T YRIR URT "D 3R SIFRURAT "p F i SN Hael &

€ . B .
—=——, where KgT is the Boltzinan’s constant and T is the temperature /

-1

u KpI

%= °_ | SIgf KT diecaidle R 3k T aman &

1. Kyl
D 2KgT S . :
Z= P where KgT is the Boltzman’s constant and T is the temperature /
D 2KgT __~ -
;=T,E—GTI\BT diecardd eRiw 3R T aua= ¢

2.
D KpT : . .
2 =— where KgT is the Boltzman’s constant and T is the temperature /
D KT _ s o sk
;=D,H'GTKBTa’l—caﬁ?ro, Tl T auA= §

3, e
%= KT, where KgT is the Boltzman’s constant and T is the temperature /
%:KST, STef KeT decerdla Reris 3k T gmoaer &

4,

Correct Answer :-

KpT 5 5 "
% =25 where KgT is the Boltzman's constant and T is the temperature /

%:Kjf,aﬁKBTa’lmﬁHﬁamaﬁTme%

17) CANCELLED
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The turns ratio of a transformer used in half-wave rectifier is ny:n,=12:1. The primary is connected to the power mains of 220V, 50 Hz.

Assuming the diode resistance in forward bias to be zero, calculate the dc voltage across the load. /

3ef-TTER YRS H W TIABIHR BT AIS SUTd (€ XRTA) ny: ny = 12: 1 8 1 WTARAS 220V, 50 591 & TR B9 A IS 8 1 A
fFfa ® srars uferiy 3t ;7 AH & g, s o SRl aie s ot M SR

1. 8.24V
2.4.12V
3.2.8V
4. 16.48V

Correct Answer :-

« 8.24V

18) CANCELLED

The condition of secular equilibrium is given by: /

3d Tgad 3t fRufa A=t gy & ot 2:
Ni_ M
Ny (y-hy)

1.

No_ M

2 Ny (g-n)
}.1 N1=)Ll N2

3.

N_n
N, X,
4, ° °

Correct Answer :-

)\.1 N]_:)L: N:

19) To get an enlarged and real image of an object, we can use either: /

fradt g 1 enafifa i arsafa® oY e w31 & g, g
1. A convex mirror or a.concave lens /mﬁrwmaﬁﬂrm&qm Y BT IYART HR Thd %

2. A convex lens or a concave mirror / ma’rwaﬁaﬁﬂm G{WWWWWW%
3. A convex lens or a concave lens /m?ﬁwmévm&maéﬂwm“mﬂaﬁ%
4, A convex mirror or a concave mirror / TITFﬁWBT‘I?TEﬁUTZIT WWWWWW%

Correct Answer :-

« A convex lens or a concave mirror/m?ﬁwmaﬂtﬂ mmmmmﬂﬁ%

20) A concave lens of suitable focal length is used: /

I BIHd GaTs ard Uh Sadd ad o1 I faar ST :
l.ina microscope/@ﬁmﬁﬁ

2. in a telescope / W?B@:Tﬁ

3. for correcting myopia | @ @ﬁ%mﬁ% ﬁfq

4. for correcting hypermetropia / a"rﬁ%ﬁ PG HHA D 1%111
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Correct Answer :-

« for correcting myopia /ﬁﬁﬁ@ﬂ%%ﬁ%ﬁl’q

21) A plano-concave lens of focal length 10cm is cut in to two equal parts then the power of each part is equal to A

10 9 B Bivd TS 9T TP WHI-3ada a9 $I &l RIR U A PRI g, AiTds RIS afear B
1. 5 dioptre / 5 STAER

2. 10 dioptre / 10 TP

3.2 dioptre / 2 SMAIPR

4.0.1 dioptre / 0.1 STATPR

Correct Answer :-

« 10 dioptre / IOE'ITI}lET

22) The two necessary conditions for observing a rain bow in the sky are: /

BT A gy 38 & Y <) srawae wd 8-

1. The source of white light should be in front us and there should be sufficient water droplets present in the atmosphere /
A9 THTN BT Wid TR THA g1 11T SR arararor & vafe urt &t 5 gt =mfgu

2. The source of white light should be in front us and there should be very less amount water droplets present in the atmosphere /
A YT BT T GHR THA ST 11T SR aTaTaRor & U &1 5 gd oH HE H SURRyd g1 =1igu|

3. The source of white light should be behind us and there should be very less amount water droplets present t in the atmosphere /
A BT HT T gAR N ST TR 3R raraRor B U 1 oS 9gd S8 JE1 § SufRyd g9t 7nfgul

4. The source of white light should be behind us and there should be sufficient water droplets present in the atmosphere /
T BT BT Hid gAR U ST AT SR TATaRvn & Gaied Uil &1 §¢ g1 anfeul

Correct Answer :-

« The source of white light should be behind us and there should be sufficient water droplets present in the atmosphere /

A UHTRT ST Ui SAR NS ST AMRT SR FraraRvr & gaied Uit & 4 g anfeul

23) Acceleration due to gravity : /

TFATHYUI $ PRI ST @0 @ :

1. is maximum at the center of the earth /g‘@%% wﬁ 3HfYHaH sﬁ?n%

2. is maximum at equator / %W@TW B gid 8

3. decreases from equator to poles / %EH?!@T T ijﬁﬁ P IR PH T;'ﬂ?ﬂ Sldl %
4, decreases from poles to equator / ﬂ?ﬁ q H;qw%@ DI 3R B Il ol §
Correct Answer :-

« decreases from poles to equator / ?J,-d}[ I ’-EW%@IT CAREIES m%ﬁ?n SIGI %

24) An electric dipole of moment ‘p’ placed in a uniform electric field E has minimum (negative) potential energy when the angle between
en? 3
p’ and E is /

g@;ﬁﬁ@aéﬁﬁ?@‘p’ 3ol & dggd fEya ot gAaw o) fRAFAS FHoif gt 8 919 o 3R E & S ST 6101
|
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1. Zero / [
2. 180°

3.270°

4.90°

Correct Answer :-

o Zero /A

25) Percentage errors in the measurement of mass and speed are 1% and 2% respectively. The error in the estimation of kinetic energy
obtained by measuring mass and speed will be: /

oA 3R T1e & ATO § wforra Fear HuRr: 1% 3R 2% &1 FoTHH SR T1e & AU gRT T Tfas ot & Smea d gie gift:
1, 6%
2.5%
3.8%
4.10%

Correct Answer :-

e 5%

26) A shell of mass 3kg explodes in to two fragments of 1kg and 2kg. The ratio of momenta of the fragments and the ratio of the kinetic
energy of the fragments (lighter: heavier) are respectively: /

3 foo oA aTen Uw | 1 76U iR 2 fF a1d &Y g S| B e ST 81 ghsl & A BT SIUTd 3R sl B st SHetf BT Sgurd
U FTHT:HRD) ¢

1 I:land2:1/1:1Td 2:1

2. 1:1and 4:1/1:1 Td 4:1

3. 1:land 1:2/1:1 QG 122

4.2:1and 4:1/2:19d 4:1

Correct Answer :-

o 1:land2:1/1:1Td 2:1

27) A ball is thrown vertically upward. It has a speed of 8m/s when it has reached one half of its maximum height. Maximum height up to
which the ball rise is: (take g =10m/sz) /

TS g SR B 3R da9d Bt ATl 3 | 519 T8 fUdaq Hars & M8 96 Ugdd! 7, 99 53! fa 8 H/A gt 31 98 Siftrpan Samg
o7 WR g ug et 8 (g=107/A &)

1.8.1m/8.1°%
2.64m/ 647
3.49m/4.9 Ml
4.10m/ 10

Correct Answer :-

. 6.4m/6.4H
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A weight ‘W’ rests on a rough horizontal plane. If the angle of friction is O, the least force that will move the body along the horizontal plane
will be: /

wwa\’é_ﬁrﬁw Qfers e W Ry srawr & @1 afe mior o1 ®iur o 2, ot 9 e aa St dfos Tag & @iy e @t

1. W tan©
2. Wsin®
3. Wcot®
4. W cos©

Correct Answer :-

« W tanO©

29) Length cannot be measured in: /
TS B e | e AT S Hehr:
1. Candela / 3@

2. Micron /Iﬂ"sﬁ:f

3. Angstrom /W\m

4. Fermi / BHf

Correct Answer :-

« Candela/ GasIyl|

30) An alternating emf is given by V = 400 sin (100xt) volt. The rms value of the emf is: /
TS UTGA! emf V = 400 sin (100xt) Gee §RT {01 SITT 8 1 STHTW $T SRTATH T @
1.400V

2.200\2V

3.200V

4.100V2 v

Correct Answer :-

. 200V2V

31) An aeroplane is flying horizontally at an altitude with a uniform velocity. Then the net force acting on the aeroplane is :/
TS 5T eTel U YU 3T & 1Y T FHars W &fas T T s @18 | 99 §aT8 SigT™l W FRRd YGad &

1. acting vertically upwards / Si§dd FYY SR B! 3R R

2, acting vertically downwards / Ggad T Y 9 $T 3R HRRd
3. in the forward direction / 3T @1 fG=m &

4, zero / [

Correct Answer :-

32) An aluminium disc is placed above a solenoid and a high current is sent through it .
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Now the aluminium disc: /

TS Ty {3 o1 QiaAgs & $HUR 31 W1al § | 39 Wi § U S YRT Welt STt 7, 3 Tegdifaray fawe:
1. is attracted by the solenoid / GIATSS P GRT M [T ST B |

2. is repelled by the solinoid / TIAFIES & gRT faws iid fram wiran g1

3. remains stationary / FRR 8T 3

4. rotates about its center of mass / SUP GO P Hg b JHT TAA B

Correct Answer :-

« is repelled by the solinoid / T3S & gRI fas i favar sar g1

33) When a ray of light enters a glass slab from air: /

YT B Teb fhvT ga1 & & Bid & We § U2 1 g, al:

1. neither wavelength nor its frequency changes / 7  aTeE 3R 7 8 U@t G{I_CiﬁT el gl
2. its frequency increases / SHDI 3‘”@%3@ St g1

3. its wavelength increases / ERE SRIEAS de ikl % |

4. its wavelength decreases / EW H?Tl%?ff DH ?f Gl %I

Correct Answer :-

« its wavelength decreases /EW ﬂé‘léﬁfﬂ?—q@ ik %I

34) When a ray of light is incident at an angle 60° on a transparent medium, a portion of light is reflected and another portion is refracted.
If the reflected light is completely polarized, the velocity of refracted ray inside the material in m/s is: /

W9 TH YRR A1ead H 60 fS3t & BT IR U1 Bt fohvvr Safere gie &, O UHT=T 1 U fovan uiafafad giar g SR gt fewar
uafida grar 81 9 wrafda v gt ave @ ydipd grar 8, @t M/ § ugrd & sier sruaffa fvur a1 am 3:

1.3V2x 108
2.2V3x 108
3.2x108

4, (V3) x (108)
Correct Answer :-

. (V3)x (108)

35) When light is incident on a thin transparent film, the light waves reflected from the front and back surfaces interfere. For near normal
incidence, the wavelength condition for maximum intensity of the light reflected from a film in air are: /

9 U Udeil URERIT fiped TR UPTT STUfad gid1 €, 9l 9+ 3R N Ft Idg! § WRididd Uiy a3 g5ad ol &1 fFree
T 3TUaH & o, arg # e fiher @ Wrafdd webr=l &1 iftreran digar & fore avvrged o fRufa e &

1. L=mX/2, where m is an integer, L is its thickness and A is wavelength of light in air. /
L=m)/2, 518l m U YOI §, L STP! [ITTs & SR A 1Y B U1 &7 avieed g

2. 2L=mA , where m is an integer, L is its thickness and A is wavelength of light in air. /

2L=m)\ 58T m T QUITe &, L 39! TIeTS § 3R A a1 B UebTI &1 g ed g
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}L

. where m is an integer, nais theindex of refraction, L is its thickness and A is

2L = (m+%)

- b

wavelength of light in air. /

2L=(m+%): .STGI M U gl §, n2 39adei® §, L s@ht Aers § 3R . arg 7

£

3, TR T Aeed

2 . . . , . . . Y
2L =m — , where m is an integer, n2 is the index of refraction, L is its thickness and X is
1,

wavelength of light in air. /

L=ml S m T Uit &, n sradeE &, L g Aers § 3 arg

ﬂ'v.

4, STERTET a:r‘aifrl%t‘ér 21

Correct Answer :-

}L

. where m is an integer, n2is theindex of refraction, L is its thickness and A is

2L = (m+%)

-~ 7

wavelength of light in air. /

.SIGI M U qUite §, n2 H9adei® ¢, L sET Arers § 3R w arg 7

1
2L = (m+;)

mra:rai?la;u‘r 81

A
n

5

36) If mass of a body is M on the earth surface, then the mass of the same body on the moon surface is: /
i g} B g WX T (hTd 1 Soaw M ©, Al S5HT B Uag UR SUl (T BT Soad 8

1. Zero / ][

2. M

3. M/6

4. M/4

Correct Answer :-

- M

37) Rotational analogue of force is : /
9 BT YOI TATAT 8:
1. Gyration / URET

2. moment of inertia /GK‘}@TU;UT
3. angular momentum / PIUg o

4. Torque / aﬁT?{Uf

Correct Answer :-

« Torque/ WELUT

38) A pipe open at both ends will resonate at frequencies ./

RN G T uRuemgfir Wi
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F=X=2 wheren=1,2,3. ., visthe speed in the air in the pipe and L is the pipe length /
p

4z
1 f%:% SEi n = 1,23, v 95T # arg &1 e R L 959 i oars g
f= /l =% where n=1, 2, 3..._, vis the speed in the air in the pipe and L is the pipe length /
| I SET N = 1,2,3.., v 98T F arg & = 3R L 919 & o @
f:;\') :% where n=1, 2, 3..._, vis the speed in the air in the pipe and L is the pipe length /
f:%zg SET n = 1,2,3.., v 98T & aR] & 9 3R L 959 T ars @
3. 2
7 =%= :’; where n=1, 2, 3...., vis the speed in the air in the pipe and L is the pipe length /

f=X-2 FEin = 123, v 957 # o T 91 3R L 9139 & oars §
4.7 4

<,
I
5|
[

where n=1, 2, 3..._, vis the speed in the air in the pipe and L is the pipe length /

=X S@in=123., vIsd #ag i = 3R L 959 &t @15 &

39) A 30g bullet leaves a rifle with a velocity of 300ms™! and the rifle recoils with a velocity of 0.6 ms™!- the mass of the rifle is : /

30 ITH Pt TP FAC 300ms™! F AT F 1Y TP A% A (Hbaal 3, 3R ASH 0.6 ms™! &b AT F 1Y ND Tell 81 IS ST HaHH &
1. 15kg

2. 1.5kg

3.3 kg

4.30kg

Correct Answer :-

40) A particle of mass 200 g is thrown vertically upwards with a speed of 10 m/s. The work done by the force of gravity during the time the
particle goes up is: /

200 ITH ST aTel TP HUT 10 /A B I6 & 1Y SR B 3R d9ad HoT A1l 8 | HU P SHWR S P SR [ardyur 96 gRT
fearmar e 8:

1.-5]
2.51]
3.-101J
4.101]

Correct Answer :-

- -10J
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A particle is acted upon by a force of constant magnitude which is always perpendicular to the velocity of the particle. The motion of the
particle takes place in a plane. It follows that: /

gw@ﬂuﬂwmawﬁwmmm%,ﬁﬁﬁaméﬁﬂ%mm%lWﬁnﬁrwmﬁaﬁ%mﬂsﬂw%

1. its velocity is constant / SHPT FTRR %

2. its kinetic energy is constant /smﬁ T S fRR %

3. it moves in a straight line / Ig Th Teft @1 & T Bt %
4. it moves in a zig-zag path / g é%—ﬁ% Ty QR TR Eﬂ?‘ﬂ %

Correct Answer :-

- its kinetic energy is constant / 3! TS Sl fRR

42) A particle is projected at an angle of 30° to the horizontal with a Kinetic energy E. The Kkinetic energy at the highest point is: /

T BT &fast T 300 S FHioT R e ol £ S a1 wafia fvar siran 81 Swaw fig wR i st 2
1. Zero / R[™

2. 4E/3

3.3E/4

4.E

Correct Answer :-

« 3E/4

43) The mass of a certain radioactive sample is 16gram.The mass left after 5 half livesis ./

e (e sl T &1 5o 16U 21 5 SdTd & a1 Y T9T GH BRI
1. 2¢g

2.0.5¢g

3. 1g

4.0.25g

Correct Answer :-

44) The density of a cube is found out by measuring its mass and length of its sides. If the maximum errors in the measurement of mass and
length are 3% and 2% respectively, the maximum error in the measurement of density will be : /

TS U BT Ucd 3P S 3R 3P fHaRI 91 dars St Arae= 71a far St 8 1 afe goaar ofik dars & umg & sifkrepaw gfear
HHT: 3% 3R 2% &, ) Uea P Aa # arftrpaw e gft:

1. 14%
2. 7%
3.9%
4. 12%

Correct Answer :-

c 9%
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45) The length of the astronomical telescope when the final image is formed at infinity is 20cm. the angular magnification is found to be 4
for different objects. The focal length f;; of the object and f, of the eye piece are respectively: /

g 3T UR Sifaw oY &1 fAwfor ghar 2 at @ity gt & dars 20 S 811 7 1 ffta avgait & e wivita sl 4 urar srar
B 9% D1 Bibd THETS £, Td gralq & XN B Blbd g fe, HUM: TS &

1.5cm, 20 cm/SQT-ﬁ, 20 It
2.16 cm, 4 cm / 16 T, 4 T
3.4cm, 16 cm/4@fﬁ, 16 It
4.20 cm,SCIn/ZOQIﬁ,SQIﬁ

Correct Answer :-

e 16cm,4cm/ leA@Iﬁ

46) The forward biased diode connection is: /
3 fiTa sTats Wit A 8

2V DAY

0—[>|—/\M/\_o

2.

+3V | AAAA +3V
3.

+5V SV

47) The force between two charges when they are separated by a distance ‘r’ in vacuum is F;. The force when they are separated by a
distance ‘2r’ in a medium of dielectric constant K is Fy. The ratio F{/ Fy is : /

31 33N & a9 F, 8 9d Fafa & 39F S F gl §1 90 F, 8 9 3 WTdggdic K & A1eqd B gt <2 I a1 &1 $guTd Fy/
Fz%l

1. 2K
2.K/4
3.4K
4. 4/K

Correct Answer :-

. 4K

48) The equation of a simple harmonic wave is given by y = 5 sin (50nt — x/2); where x and y are in meter and time is in second. The period
of the wave in second will be: /



Eﬂgﬂmmmmﬁmw& y = 5 sin (50mt — nx/2); 8T x Td y Hex & a1 g99 Qs § fou 1 8 | Abs A gwg o1
) :

1.1s
2.0.04s
3.0.01s
4.5s

Correct Answer :-

« 0.04s

49) The maximum velocity (in m/s) with which a car driver can safely take a circular turning of radius 100m along a level road without
skidding is (coefficient friction between tyre and road = 0.4): /

a8 Siftrerad 31 (A F) RRTd [1Y T $R Arae a1 6 T8 Uh Wild I8 W 100 Hiex a1 arelht te oreR dis dar g:
@R 3R s & S urie Tyor = 0.4)

1.20
2.10
3.30

4.40

Correct Answer :-

- 20

50) The unit of self-inductance is: / W Pl E'Cb'l'&;%

1. Wh/AZ

2. H/m

3. Wb/m?

4. Wb/A

Correct Answer :-

- Wb/A

51) The Bohr’s radius of hydrogen atom is ay. The electron in the nt" orbit of hydrogen atom has a radius: /
BISSIo WRHTY &1 §1R 734 a, B ST I URHTY & n oY e § gaae= ot B e :

1.n? ay

2. nay

3.ap/n
4.ay/ n?

Correct Answer :-

52) The transition stage between aperiodic and damped oscillatory motion is: /
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3FTEfY® 3R Srawid FreeR] & dia TRad-oTd SEawT 3:

1. Electromagnetic damping / WW 3qHGH

2. Low damped simple harmonic motion /g srarifed TR w T

3. Critically damped simple harmonic motion / fawe srarfed Wwa 3‘!337_5?[ i
4. Overdamped simple harmonic motion / fdsrarid e Glfﬁmﬁ T

Correct Answer :-

« Critically damped simple harmonic motion / fawe sratfed wa Wfﬂ i

53) The wire of resistance ‘R’ is cut into ‘m’ equal parts. These parts are then connected in parallel with each other. The effective resistance
of the combination is: /

FfaRIY ‘R’ I AR B ‘m’ SRTER YT A F1eT 7471 F6R 377 YT 61 TP gRIR & THHIGR SIST TT | 39 Wi &1 THTE! iRt gm:
1. R/m?

2.R/m

3. m/R2

4. mR

Correct Answer :-

. R/m?

54) The energy released during the fission of U-235 into Barium and Krypton is about 200MeV. This energy is equivalent to a mass defect
amu (approximately). /

Afaw 3R forpe ® U-235 & faGss & SR Yo Sl TTHIT 200MeV © | T8 Heli amu (TTHT) P FHH 39 S SRIER e
1.0215

2.931

3 1.66 %107

4 222 x1071

Correct Answer :-

- 0.215

55) The magnetic field at the center of a current carrying circular loop having 1A current with radius 1m is: /
TS YR AT gaIPR U & &% & gab g &= et fsar 1 fex 8 o forad 14 arT3:

1. po/2

2. np/4

3.4 19

4. 219

Correct Answer :-

* /2

Page- 28



The concentric circular coils of 20 turns each are situated in the same plane. Their radii are 25cm and 45c¢m respectively and they carry 0.5A
and 0.9A current in opposite direction. The magnetic field at the center is: /

20 YHTT 9Tl TP JHIPR Hocil TP Tag § UG &1 3o Hean wasr: 25 Ji o7 45 A @ s 3 faudta fezm d 0.5 A iR 0.9 A
TATE BT 967 B4 & | H5 § Jaa 87 8:

1. Zero / X[
2. 119/ 20
3. ].10/4

4, |.J,0/50

Correct Answer :-

57) The sprinkling of water reduces slightly the temperature of a closed room because: /
Ut BT F5SH1a T dg HHR & A9HH DI UIST HH I dl 8, TN 5:

1. water is a bad conductor of heat / ST¢T HBHT b1 §RT argsh %I

2. water has large latent heat of vaporization / ST & qrefieRur H fammme o ST Eﬁ?ﬁ %’I

3. temperature of water is less than that of the room / SI¢T T dTUHTT HIR B qadn FFU I
4. specific heat of water is high / ST& @I ﬁﬁl’g SO 3 Eﬁ?ﬁ %I

Correct Answer :-

« water has large latent heat of vaporization / 5T& & arefieHRor  faRma RICSRS g gl

58) Four particles say, alpha-particle, beta-particle, neutron and proton are moving with same velocity. The maximum wavelength is for: /
TPT-HUT, FeT-HU, YI 3R el ATHS IR B GATT a7 F WY 3 9¢ 12 &1 sfpan e sasur d R @:

1. beta-particle / Ser-Hu

2. Proton / TG

3. Neutron / ?Eﬁ
4, alpha-particle / 3{ethI-HUT

Correct Answer :-

« beta-particle / SIe-H

59) Area under acceleration-time graph is: / <RUI-HHY ATH ¥ St &= %:
1. change in velocity /T gRad=

2, change in displacement / forum= o ufkad=

3. change in acceleration / <0l 7 ufiada

4. displacement / faimaT

Correct Answer :-

« change in velocity / AT ¥ ufkad

60) A bullet of mass 20 g is fired from a gun of mass 1 kg. If the recoil velocity of gun is 5 m/s, the velocity of bullet is: /

20 9T ST ATell Teh TMell I 1 el o= arehl T dgep & BIST St 1 afe sigep 1 ferdyy 9 s #4 g, o wiledl 1 47 &:
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1. 250 m/s / 250 HI/A
2. 500 m/s / 500 T/
3.25 m/s /25 HIA
4.50 m/s / 50 HI™

Correct Answer :-

. 250 m/s / 250 HA

61) During Faraday’s electromagnetic induction experiment the mechanical effort of movement of magnet near a coil produces electric
energy within the coil. This phenomenon can be best explained on the basis of: /

PRI F faggd e TRV TN & R TP Heait & U ga@ i Tfd &7 Tifs v gt & WMo gy St 3ad #wdl 21
Y YT $f Ja 33! ARSI 59 YR W $I o IHdl &

1. Lenz’s law and conservation of energy / Tl T A 3R Sl T TREMu

2. Lenz’s law and conservation of charge / Tt T faw 3R SMTART BT TREUT

3. Faraday’s law and conservation of energy / HrS &1 fFaw S?I?W?ﬂw&fﬂr
4. Faraday’s law and conservation of charge / TRTS T I 3R SR & TRETT

Correct Answer :-

« Lenz’s law and conservation of energy / 31 BT o 3R Sroif o1 TRequr

62) A light emitting p-n junction can also be made to emit and thus can serve as a laser. /

Iafold B & T e U= IR p-n T it 918 S el 8 SR 59 IR Aok & U H IUGNT H 1T &1 Il g
1. stimulated emission /mwﬁh
2. spontaneous emission / ¥dd: IS

3. spontaneous absorption / ¥dd: R
4. induced absorption / AT Sfa=ITUr

Correct Answer :-

« stimulated emission /WBT\“IG&T

63) A point source is placed at the first principal focus of a convex lens. The shape of the wave front of light emerging from the convex lens
is: /

Tw fig Bd & U S9d o9 & Ugd IReT BIdd UR 3T 91T 8 | I9d A9 T SUIA YHT & a7 M 67 STHR i 8:
1. converging spherical wave front / Tgad Bidl TCTHR AT Y

2. diverging spherical wave front / TR TR o 2y

3. plane wave front / §HA T 2

4. cylindrical wave front / STHR qT e

Correct Answer :-

« plane wave front / FHA e 2fief

64) A point object is placed at the center of a glass sphere of radius 8cm and refractive index 1.5. The distance of the virtual image from the
surface of the sphere is J



ﬁwséﬁtﬂeﬁwmw 1.5 9Te Bid & Teb el & g d Top fog fia vt wirdt 3 1 7Tred 61 wag & st ufafda &1 g&
_ 7

1.6cm/69H
2.8 cm /8 T
3.4 cm/4 T
4. 12 cm/ 12

Correct Answer :-

.« 8cm/8 I

65) If a body A of mass ‘m’ is thrown with velocity ‘u’ at angle 30° to the horizontal and another body B of the same mass is thrown with the
same velocity at an angle of 60° to the horizontal, the ratio of horizontal range of A to B will be:/

If G 'm' 9T TH B9 A D1 &fasT T 300 & 101 TR AT o' & 1Y BT 1T § 3R I 5oqd1= ara gek Hora B 31 dfowr d
60° ¥ HYUT GR AT AT & 1Y BT oITaT 8, A A ¥ B & Gfae TWRRT o7 3uTd 8:

1. 1:3
2. 1:V3
3.V3:1

4. 1:1

Correct Answer :-

66) If a spring of mass 20 kg has a spring constant of 5 N/m, then its time period is: /

I3 20 fFaum™ So@T= ATl T R &1 A RRT®S 5 N/m 7, 0 39! 9979 @A §:
1. 4 seconds / 4 Y S

2.2 seconds / 2 &S

3. 2 seconds / 2 WS

4. 47 seconds / 4n V&S

Correct Answer :-

« 47 seconds / 4n THS

67) If a ferromagnetic material is inserted in a current carrying solenoid, the magnetic field of solenoid : /

Afe YR G6 B arel! U TRAIIeT & Wik T wlie-daaia vard o ufg erar oy, @ ufRferesT o1 gaeta &= -
1. slightly decreases / m@T He o1aT g

2. slightly increases / ?An@Ta_d NI %’I

3. largely increases / BT BG AP 96 WIdl g

4. largely decreases / P! 8¢ b °C SIIdl %l

Correct Answer :-

« largely increases / BT §G AP &G oITdT &

68) In a full-wave rectifier, the current in each of the diodes flows for: /
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U UL GUR A, Tl STaits # fagga ware swe forg aean ¢:

1. Zero time less than half cycle of the input signal / §T4C Rua & s T Pita) ‘:ﬁ I
2. The complete cycle of the input signal / ITYC R a1 ELUTW

3. Half cycle of the input signal /Wﬁ'ﬂa FT 3G IH

4. Less than half cycle of the input signal / ¥4 R & oG I A HH

Correct Answer :-

« Half cycle of the input signal / §4cC RITd &1 31 Ih

69) In a junction diode, the transition capacitance is proportional to ____ where X is the width of the depletion region. /
P AR S A, ewiaR ulRar & awuiiae gt 8, Sef x Rad fa A e 81

1. X

2. 1/X?

3. /X

4.x?

Correct Answer :-

« 1/X

70) In a pnp transistor circuit, the collector current is 10mA. If 90% of the holes emitted reach the collector, the emitter current will be: /
e Nodt eifore? oy , JImdh 9RT 10 mA 197 Iafela 5 71 90% YT TUTd) 9% ugTar €, af Sceie Uy fa gt

1. ImA

2. 10mA

3.9mA

4. 11.1mA

Correct Answer :-

« 11.1ImA

71) In a common emitter amplifier, the input and output resistance of the circuit are 400 Q and 4k Q respectively. If the current gain of the
transistor is 100, the power gain of the amplifier is: /

TP T SO P TRAIHRR 8, TRUY & $9YC TH 3T3cye UfaRie HHRT: 400 © T4 4k Q 814 € | af eifoRer &t uRT i 100 8, &Y
TEAERR 3t fagygq afs &:

1.4x10%
2.4x 10
3.10°
4, 10*

Correct Answer :-

72) In a half wave rectifier circuit, operating from 50 Hz mains frequency, the fundamental frequency in the ripple would be /
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SN fRpH R aRuy &, 50 Hz T TT SMgfr & uREres $31 W, e # Hifte srgfv A gt
1.25 Hz
2. 100 Hz
3.75 Hz
4.50 Hz

Correct Answer :-

« 50Hz

73) As per Bohr model, the minimum energy (in eV) required to remove an electron from the ground state of doubly ionized L; atom (Z = 3)

is: /

IR AT P ATAR, ST STAHIPd L; WRHIY (Z = 3) S 3T SGRUT A SAGI B! febTerm P [oT ATaaqed GraH Seii (v ) 8
1.40.8 eV

2. 1.51eV

3.1224¢eV

4.13.6eV

Correct Answer :-

o 1224 eV

74) A cube has a side of length 1.1 x 1072 m. Its volume is: /
TP 99 & fPIR B Fa1E 1.1 x 102 HeT § 1 ST UG ©:
1. 1.0x 1070 m?

2.1.3x10%m3

3.1.33x 100 m?

4.1331x 100 m3

Correct Answer :-

¢ 1.3x100%m3

75) A beam of electrons is used in Young’s double slit experiment. If the speed of electrons is increased, then the fringe width will i

41 ¥ RXafos (cad fRie) 7o § saaei # ge f63or gor @) &1 STanT faar orar 81 9 saaei &) a1 et ord 8,

1. fringe will not be seen / JUId (m) el et
2. decrease / HH BT

3. remain same / THM @I

4, increase /aéﬂﬂ

Correct Answer :-

« decrease / PH —sal"ﬁ

76) 500 g of ice at 0° C is mixed with 500 g of water at 80° C. The final temperature of the mixture is: /
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09C TR 500 TTH 90 T 80°C TR 500 UTH T P TTY fFrema wirar g1 frsror o1 sifow aruwm= &
1.0°C

2. less than 0° C / 0° C 9 &Y

3.40°C

4.80°C

Correct Answer :-

« 0°C

77) A body of mass 3kg is kept stationary by pressing to a vertical wall by a force of 200N.the coefficient of friction between wall and body is
0.3. then the frictional force is equal to:(g = 10m/sz) /

200N P U 99 GRT TP FHEER AR IR 3 fhaiumd soad = ard Ue (Fer &) fRR U I 71 SaT g1 SR 8k e & i g
P IUN 0.3 8 1 ) T0T 9 8: (g = 10m/s?)

1. 30N
2. 60N
3.3N
4. 6N

Correct Answer :-

« 30N

78) A body has a charge of -3.2pc. if it has 2 x 1013 protons, the no of electrons present in the body is : /
TP FHT H -3.2pc 3TAN 71 A THA 2x1013 TieT &, @1 Fom & Hiv[g seagl of 6@ 3:
1.4x108

2.5x1013

3.2x 1083

4.3x 10"

Correct Answer :-

. 4x1083

79) Standing waves cannot be produced: /
STATTHY AN 1 ferafor =78 fapam i |
1. on a string clamped at both the ends /
! RRI R dg @1 dg x|
2. On the string of a sonometer wire/
T R IR g &1 o B SR g8 R IR Yo x|
3. when incident wave gets reflected from a wall /
16 SfTUfad a3 SR ¥ TRiafid g1 S gl

4. when two identical waves with a phase difference of m are moving in the same direction /

O PeicR « P 1Y & GHM ol GHH 2 7 3 dgdt B
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Correct Answer :-

» when two identical waves with a phase difference of & are moving in the same direction /

S PeicR « P TIY & GHM o GAM 2 7 3 ggdt B

80) A quantity of heat required to change the unit mass of a solid substance, from solid state to liquid state, while the temperature remains
constant is known as : /

gjﬁu‘gﬁ%gﬁémﬁmmﬁmmﬁaﬁ%ﬁﬂwmﬁmﬁwm%}mm
EEGIGH

1. latent heat of sublimation / SIUTGH BT T ST
2. latent heat of fusion / HeTgd &1 RICSRC|

3. latent heat of vaporization / ATSHIhRUT bl RILSRCA |
4. specific heat capacity / m ST TR

Correct Answer :-

« latent heat of fusion / Herd &1 RILSRS ]

81) If R is the radius of a planet, g is the acceleration due to gravity, then the mean density of the planet is given by : /
Ife R TP U8 31 A1 8, A ¢ Torp ol & HRUT @RI 8, T U8 BT e T+ FHgaR ghm:

1. 3g/4nGR

2. 3gG/4nR

3. 4ngR/3G

4. 4nGR/3g

Correct Answer :-

« 3g/4nGR

82) Alternating current cannot be measured by d.c ammeter because: /

TATadt URT Bt Ay URT SRA) Tiex FRT A A9n S A 7, Rif:

1. d.c ammeter get damaged / &F 4RT (SR THIR afara g ot 81

2. average value of current over a complete cycle is zero / Wtﬂ]f T W YRT BT 3N HHE R HEIGI %I
3. a.c cannot pass through d.c ammeter / Tac 4RI, foF 4T (SR witex & mrem I 18} Tor Iadl g1

4. a.c changes directions periodically / TATTd! YRT JHI-99Y W o= sed 31

Correct Answer :-

« average value of current over a complete cycle is zero / Wq}ﬁ T9h T YRT BT 3d HIF R B ST gl

83) de- Broglie wavelength of an electron accelerated by a voltage of 100 V is : /
100V & deesl gIRT @ Rd gaaei ®T Sl awgyd = &

1. 0.246nm

2.0.123nm

3.0.061nm

4. 0.17nm
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Correct Answer :-

e 0.123nm

84) Two gases are at absolute temperatures 350K and 300K respectively. Ratio of average kinetic energy of their molecule is:/
S 79 HHRM: 350K 3R 300K & YOI ATUHT WR &1 31 SMU[3f} 1 3iIa TTfaret Seil &1 3guTd &

1. 6:7

2.7:6

3.36:49

4.49:36

Correct Answer :-

e 7:6

85) If the number of turns per unit length of a solenoid is doubled, its self-inductance will: /

IS U@ URATRIST 5 UTd SHTS GaTS & YHTG! 3T WA G 81 91 3, A SHBT TR gIT:
1. be halved / ﬂTiﬂaGﬂQTﬂl

2. be doubled / EPI'TIT s

3. remain constant / @RT%TITI

4. become four times / TR T[T B ST

Correct Answer :-

« become four times/?ﬂ'\"ﬂtﬂﬁ}f\_ﬂlw Tl

86) In series combination of ‘n’ cells, in order to get maximum current through the circuit, the external resistance ‘R’ and internal
resistance ‘r’ of the cells shall be related as: /

gfvuy & A1 | 3fIPHaH UaTe U ®R1 & [T ‘o' Al & Juil Juio A, Tl & 9188 ufeRkie 'R' R Siafve ufediy '+ ®1 59
¥ § e farar sme:

1. R<<nr
2.R=r

3.R=1/n
4. R>>nr

Correct Answer :-

« R>>nr

87) Ina single slit Fraunhufer diffraction experiment x; and x; are the distances of 1st and 274 maximum from the center of the diffraction

pattern (Assume that angular spreads of maxima and minima are small). Now x: X, is:/

TS Uhd R WIgHR faad= TR H x, T x, , faad= Yot & ¥ 3wy vd fgdia siftrean gt § @M & for Afeam od fria &
P TR BIE 8) | 3 x;: x, &

1.3:5
2.1:3

3.34
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4.4:3

Correct Answer :-

« 35

88) 20 A current is flowing through a straight wire. The intensity of magnetic field at a point 10 cm from the wire willbe_ ./
20 TR &1 YRT U@ Gl NP IR A URa s W g I IRF 0 TN P g R e gl geormaadidgar____ g
1.4 x 10°Wb/m?

2.4 x 10°Wb/m?

3.2x 10Wb/m?

4.8 x 10 SWb/m?

Correct Answer :-

o 4x105Wb/m?

89) CANCELLED

The existence of discrete states with discrete energies of a wave is based on: /

TP AT P AT Sl D AT SRTAT AR DT e S W 311Ra gt 3
1. Pauli’s exclusion principle / qidll &1 G'an\_rhﬁl@ﬁ

2. Heisenberg’s uncertainty principle / %WTTW SfAfEear Rigid

3. Schrodinger’s wave equation / FETR BT T THHROT

4. Confinement principle | HpTgTHe Rigid

Correct Answer :-

« Confinement principle | HpTgHE Rigid

90) CANCELLED

A good amplifier is one which has ___input resistance and output resistance. /
o BT uRadw ag g, forad _ sege ufoRigr o 3T3eye Ry grar g
1. high, low / 3, g

2. high, high / 3=, 3=

3. low, low /ﬁg, g

4. low, high/ 74, 3=

Correct Answer :-

« high, low / 3=, e

91) CANCELLED

A couple produces: /

T G S DT 8

1. no motion /ﬁ'&cﬂﬁfq_(ﬁ

2. linear and rotational motion / Y& SR ‘a;UT:I RIS
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3. purely rotational motion / ﬁ‘{l@ Y ‘Q:Uf:f HIG
4, purely linear motion / ﬁﬂl@' ESU RS RGBT

Correct Answer :-

« purely rotational motion / ﬁ'%l@ U ’Q:Uﬁ BIIG)

92) A black body is at a temperature 303 K. The energy emitted per second per square meter from it is proportional to: /

TP HId ST BT AUA 303K 81 3T IAfoid ufa Ips ufa aif iew Sof 39 nguifas ©:
1.3003

2.300

3.303%

4.3032

Correct Answer :-

. 3034

93) The acceleration-time graph of a moving bodyis shown in the figure below. The maximum

change in velocity of the body will be: /

T el PR &7 caRoraHT A6 FAX ev v fm 7 iRy =y g1 [err &

CER: R IC ETsEa qﬁal‘cﬁﬂ gam:
10
acceleratin
(m/s?)
A

Time(s) S

1. 60m/s
2. 300m/s
3. 600m/s

4, 120m/s

Correct Answer :-

« 60m/s

94) Two forces each numerically equal to 5N are acting as shown in the given figure. The resultant

force has magnitude: /

arge A e TEIGAR 5N & ate] &, Star [ A gl I § 36S 3egar
FRRT &1 IROTHAT geT @1 IR#AOT &

I

5N
{ 60° ) 60°
5N
1. 25N
2.5N
3. 5V3N
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4, 10N

Correct Answer :-

« 5N

95)

A sinusoidal voltage of r.m.s value of 220V is connected to the junction diode and a capacitor C in
the circuit shown below. Here half wave rectification occurs. The final potential difference (in volts

acrossCis ./

220V & R.TUH.TG A aiell U SAGHTT dlecsl AT Sg 3K v guia C @
aRTe # oA @ 7T seEr S8 gam g1 Tgl 3r&ader gienys gar g1 C H (@ec |
3ifas Reaar e &

by
E =220V @ <

1.220

2,440
3.311
4.283

Correct Answer :-

« 311

96) A nucleus of *#pudecaysto pb by emitting
3T XA G e & Teh alienh, Yipo A AT 81 oAl ol
1. 9 alpha and 12 beta particles / 9 3{cthT 3R 12 Srer U
2.9 alpha and 6 beta particles / 9 3fcthl 3R 6 Ster B
3. 6 alpha and 9 beta particles / 6 3{cthl 3R 9 sterHur
4. 6 alpha and 6 beta particles / 6 3T 3IR 6 SIeT B

Correct Answer :-

« 9 alpha and 6 beta particles / 9 3T 3R 6 el HUT
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The area enclosed by the graph shown for a particle in one-dimensional motion gives: /

Tk AT I # Tk FUT & AT 22ATT 37T I Z@RT WoldaT &1, T T &

|
I
Force I
1
1

Speed —
1. kinetic energy / TIfaT it
2. Power / Qfad
3. change in kinetic energy / TIfaT Soolt | URad
4. Work / BT

Correct Answer :-

« Power/ Ui

98) Moment of inertia of a ring of mass M and Radius R about an axis passing through the center and perpendicular to its plane is I. The
moment of inertia about its diameter is: /

FoH M 3R Bsa1 R arefl T Sivdt @1 Sigearyuf 1 8, St % A Elex o arell sief iR IS Wele & daad & | 3UP N Q Seearyyl g:
1.1A2

2.12
3. [+MR2
4.1

Correct Answer :-

o 12

99) 440 volt a.c is changed to 2200 volt a.c through a step-up transformer. If current in the primary is 5A, the current in the secondaryis: /
T Ve-377 TRABTHR F ATSH ¥ 440 diee T B 2200 diee T A goar oirar 31 afe wufie & orT 54 8, @ fgdiae & ari :
1. 1A

2.2A

3.0.5A

4. 1.5A

Correct Answer :-

100) In current electricity, Ohm’s law is obeyed by all ./
faggau ®, s s FaasTueq_ grifHarsmar @l
1. Liquids /%dl

2. Solids / 311

3. Ohmic devices / 3fTeTdH ST

4. Gases / 1
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Correct Answer :-

o Ohmic devices / G'hm JUDBIT
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